Name \ Date

Rounding Decimails

Rounding Decimals

Round 8.135 {o the nearest fenth.
8.135—8.1

i
less than 5

}_ ; Round 32.56713 to the nearest hundredih.
32.56713 — 32.57

sty
greater than 5

‘Round to the nearest whole number.
1. 41,803 = 2. 119.63= 3, 2005= 4, 3.45=

5 798631 = 6. 8437 = 7. 2037 = 8. 109.96 =

Round to the nearest fenth.
Q. 33335 = 10, 1.861 = 11, 9996 = 12. 103.103 =

13, 16031 = 14. 281.05= 15. 8.741 = 16, 27.773 =

Round fo the nearest hundredih. |
17. 69.713 = 18. 5569 = 19. 609.906 = 20. 247.898 =

21. 5535 = 20 671951 = 23, 140305= 24, 6.9372=

Published by Instructional Falr. Copyright protectad, Page 21 0-7424.1787-5 Pre-Aigebra |,




Name -Date

Mulhp!ymg Gnd Duwdlng by m 100, etc.

| When mUleplvlng by a power of 10, move the decimail o the r!gh’r 1
34.61x 10 — move 1 place — 346.1 !
6.77 x 100 —» move 2 places — 677

When dividing by a power of 10, move the decimal to the left:
7.39 + 100 — move 2 place — 0.0739
105.61 = 1000 — move 3 places — 0.10561

1. 11.-5;_)(- 100 = _ 10. 90,000 + 100 =

2. 37.68+10= 11. 0.000618 x 1,000 =
3. 0.46x1,000= 12, 39.006 + 1,000 =
4, 7.12+10,000 = 13. 16%x100 =

5 b4x10= ‘ - 14, 28.889+ 10,000 =
6. 27,500+ 1,000 = 15. 36.89x 10,000 =

7. A.395x 100,000 = | 16. 0.091 + 100 =

8. 0.0075+100= 17, 0.0336 x 100,000 =
Q. 2274x10= | 18. 1,672 + 100,000 =

srtehad by insrustional Folt Coppight proiscled. Page 22 (17424-1767-6 Pre-Algebrc




NAME DATE PERIOD

Study Guide and Intervention
Powers and Exponents

Exponent

3%= 3-3:3:3=81
Ny et

Base common factors

The exponent tells you how many times to use the base as a factor.

Write 62 as a product of the same factor.

The base is 6. The exponent 3 means that 6 is nsed as a factor 3 times.
62=6-6-6

Evaluate 5%

Write 4 - 4 - 4 + 4 - 4 in exponential form.

The base is 4. It is used as a factor 5 times, so the exponent is 5.
4-4-4-4-4=4°

Write each power as a product of the same factor.

1.7 2. 27 3. 9% 4. 154

- Evaluate each expression.
5. 3° 6. 73 7. 81 8, 53

Write each product in exponential form.

9.2-2-2-2 10.7-7-7-7-7-17
11.10-10- 10 12.9:9-9-9-0

13. 12 - 12 - 12 14, 5:-5-5-5
15.6:6-6-6-6 16.1-1-1-1-1-1-1-1

© Glencoe/MceGraw-Hill 6 Mathematics: Applications and Concepts, Course 2




NAME DATE PERIOD

Study Guide and Intervention
Order of Operations

Use the order of operations to evaluate numerical expressions.
1. Do all operations within grouping symbois first,

. Evaluate all powers before other operations.

2
3. Multiply and divide in order from left to right.
4. Add and subtract in order from left to right.

Evalaate (10 — 2) — 4 - 2.

10— —-4-2=8~- 4.2 Subtract first since 10 — 2 is in parentheses.
=8-—38 Multiply 4 and 2.
=0 Subtract 8 from 8,

Evaluate 8 + (1 +5)% ~ 4.

8+ (1L +h2+-4=8+ 62 + 4 First, add 1 and 5 inside the parentheses.

=8+36+4 Find the value of 62,
=8+9 Divide 36 by 4.
=17 Add 8 and 9.

Evaluate each expression.

L+T) X3 9,28 ~4-17 35443

4. (40 +5)— T+ 2 5. 35 + 7(2) 6. 3 % 103

7.45+5 436 +4 8.42+6X2-9 9.2%x8—3%+2

10. 5 X 22 +32+8 11.3)(6—(9—8)3 12. 3.5 X 102

© Glencoe/McGraw-Hill 11 Mathematics: Applications and Concepts, Course 2
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NAME DATE PERIOD

Study Guide and Intervention
Adding Integers

To add integers with the same sign, add their absolute values. Give the result the same sign as the
integers.

- Find -8 + (—4).

—3 4+ (—4y= -1 Add |31 + |1—41. Both numbers are negative, so the sum is negative.

To add integers with different signs, subtract their absolute values. Give the resuli the same sign as the
integer with the greater absolute value.

- Find —16 + 12.

-16+ 12 = —4 Subtract 1121 from 1184, The sum is negative because [—161 > f2l.

Add.
1. 9+ 16 2, —10 + (-10) 3. 18 + (—26)
4, —23 + (—1b) 5. —45 + 35 6. 39 + (—38)
7. =55 + 81 8. —61 + (—39) 9. —74 + 36
10. 5+ (—4)+ 8 11. -3 + 10 + (-6) 12, —18 + (—8) + (-12)
18. 3 + (‘—10) +(-16) + 11 14. —17 + 31 + (-14) + 26
Evalﬁate each expression if x =4 and y = —3.
15. 11 +y 16. x + (—6) . 17.y +2
18. |x +y| 19. |x| + 20. x + |¥|

© GlencoeMcGraw-Hill 16 Mathematics: Applications and Concepis, Course 3




NAME DATE PERIOD

Study Guide and intervention
Subtracting Integers

To subtract an integer, add iis opposite or additive inverse.

) Find 8 — 15.

8§ - 15 =8+ (—15)  To subiract 15, add —15.
= -7 Add,

n
b
bt

c
Bl
')
T,
o )

B Find 13 — (—22).

13 — (—22) = 13 + 22 To subtract —22, add 22.
= 35 Add.

Subtract.
1. -3—4 2.5~ (=2) 3. -10—-8
4. —15 — (-12) 5. —23 — (—28) 6.16—-9
7.9-16 8. —21—16 9, 28 — 37
10. —34 — (—486) 11. 65 — (—6)- 12, 19 — |29]
Evaluate each expressionifa = —7,b = —3,and ¢ = 5.
18. a2 -8 14. 20 - b 15. a — ¢
16. ¢ — b 17.b—a—¢ 18.¢c—b—a
@ GlencosMcGraw-Hil 21 Maihematics: Applications and Concepts, Course 3




NAME DATE PERIOD

. Study Guide and Intervention
Multiplying and Dividing Integers

Use the following rules to determine whether the product or quotient of two integers is positive or
negative.

* The product of two integers with different signs is negative.

e The product of two integers with the same sign is positive.

« The quotient of two integers with different signs is negative.

» The quotiant of two integers with the same sign is positive.

- Find 7(—4).

7(—4) = —28  The factors have different signs. The product is nagative.

" Find —5(—6).

The factors have the same sign. The product is positive.

) Find 15 + (-3).

Multiply or divide.
1. 8(—8) 2, —3(—17) 3. —94) 4, 12(8)
5.33+(—3) 6. —25 +5 7. 48 + 4 8, —63 + (-7
— 432 =75 - _ 143
9, (—4) 10. 15 11, —6(3)—5) 12, —13
Evaluate each expression if ¢ = —1, b=4,andec=—-T7.
18. 3c + b 14. a(b +©) 15. 2 — 5b 16. 2=5

@ GlencoeMcGraw-Hill 26 Mathematics: Applications and Concepts, Couise 3




NAME DATE PERIOD

Study Guide and Intervention
Multiplying Rational Numbers

To multiply fractions, multiply the numerators and muliiply the denominators.

) Find % 4 Write in simplest form.

11
% . —1% Divide 8 and 4 by their GCF, 4.
2
= 23 _' 111 Multiply the numerators and denominators.
3

=53 Simpiity.

To multiply mixed numbers, first rewrite them as improper fractions.
; . 3%. Write in simplest form.
1 7 .3 18

25="3% 8

Divide 18 and 3 by their GCF, 3.
Multiply the numerators and denominators.

Simplify.

Write the result as a mixed number.

Multiply. Write in simplest form.

o33 3 (4 e
7. 92 % 8. -3%- 11 9. 33 2>
© Glencoe/McGraw-Hill 77 Mathematics: Applications and Concepts, Course 3




NAME DATE PERIOD

Study Guide and Intervention
Dividing Rational Numbers

Two numbers whose product is 1 are multiplicative inverses, or reciprocals, of each other.

. Write the multiplicative inverse of —2%.

Write —2% as an improper fraction,

Since —ll—(—il—) = 1, the multiplicative inverse of *-2% is ——f‘I.

To divide by a fraction or mixed numbat, multiply by its multiplicative inverse.

Find % + ,—“‘7"- Write in simplest form.

% = 7 = % . % Multiply by the multiplicative inverse of %, which is %.
1
= -;i g Divide 6 and 3 by their GCF, 3.
5§
_ 1 .
=~ 16 Simplify.
Write the multiplicative inverse of each number.
3 _8 1 _1
1. 5 2. 5 3. 10 4. 6
3 —12 _g52 1
5. Q.g 6. 13 7. 55 8. 74
Divide. Write in simplest form.
1.1 2.4
9. 37 % 10. ETw
5.3 1. 91
11. ) 12.15.24
1. ({_g2 4.
13.37.( 33) 14, %+ 2
6 —_— P— - l.
15. 11.( 4) 16.5.23

©® Glencoe/McGraw-Hill 82 Mathematics: Applications and Concepls, Course 3




NAME

DATE

Study Guide and Intervention
Adding and Subtracting Unlike Fractions

PERIOD

neccessary.

Fractions that have different denominators are called unlike fractions. To add or subtract unlike
fractions, first rewrite the fractions with a common denominator. Then add or subtract and simplify, if

15
_ 19

4
—Eorlﬁ—

Find—‘;l + % Write in simplest form.

The LCDis 5 3or15.

Rename each fraction using the LCD,

Add the numerators. The denominators are the same.

Simplify.

Write the mixed numbers as improper fractions.

Find —3% - 13, Write in simplest form.

The LCDis 2 * 3or 6.

Rename % using the LCD.

Subtract the numetators.

_7_ 11
2 6
- _7.3_11
2 3 6
__21_ 1
6 6
_-21-11
6
= %2—01" “136 or 5% Simplify.

Add or subtract. Write in simplest form.

L2438

10, —1-— 2=

© Glencoe/McGraw-Hill
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1
2.3+9

[a—y
=
[Na]

[
!

/‘—l--.

—
I
[ S

92

3_ 41
9.3—1 13
3_g92
12.3g 23

Mathematics: Applications and Congepts, Course 3
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NAME DATE PERIOD

Study Guide and Intervention
Solving Addition and Subtraction Equations

You can use the following properties to solve addition and subtraction equations.

« Addition Property of Equalily - If you add the same number to each side of an equation, the fwo
sides remain egual.

« Subtraction Properly of Equality - If you subiract the same number from each side of an equation,
the two sides remain equal.

- Solve w + 19 = 45. Check your solution.

w+ 19 =45 Write the equation.
w+ 19 —~ 19 = 45 — 19  Subiract 19 from each side.
w = 26 19 — 19 = 0 and 45 — 19 = 26. wis by itself.
Check w+ 18 =45 Write the ariginal equation.
26 + 19 £ 45 Replace wwith 28. Is this sentence true?

45 =45/ 26 + 19 = 45

- Solve b — 25 = =76, Check your solution.

h—26=-76 Write the equation.
h — 95 + 25 = —~T76 + 25 Add 25 to each side.
h=-51 —35 + 25 = 0 and —76 + 25 = —51. his by itself.
Check h—26=-76 Write the original equation.
—51-25% 76 Replace hwith —51. Is this sentence true?
~76 = —-76V —51 — 25 = —51 + (—25) or ~76

Solve each equation. Check your solution.

l.s—4=12 . 2.d+2=21 3. h+6=15
4. x+5=-8 5.5 — 10 = —34 6. f—22= -6
7.17 + ¢ = 41 8.v—236=25 9.y — 29 = ~51
10. 19 =z — 32 11. 13 + 2 = —29 12. 55 = 39 + k
13. 62 + b =45 14. x — 39 = —65 15. —56 = —47 + n

© Glencoe/McGraw-Hill 36 Mathomalics: Applications and Concepts, Coutse 3
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Study Guide and Intervention
Solving Multiplication and Division Equations

Yout can use the following proparties to solve multiplication and division equations.

» Muftiplication Property of Equality - If you muiltiply each side of an equation by the same number, the

fwo sides remain equal
« Division Property of Equality - If you divide each side of an equation by the same nonzero number,

the two sides remain equal.

Solve 19w = 104. Check your solution.

19w = 114 Write the equation.
19w _ 114 ., . .
19 - 19 Divide each side of the equation by 19.
1w =6 19+ 19 =1and 114 +~ 19 = 6.
w=~6 Identity Property; 1w = w
Check 19w =114 Write the original equation.
19(6) £ 114 Replace w with 6.

114 =114 v/ This sentence is trus.

Solve 4 _ _9. Check your solution.

15
a4 _
5=
%(15) = —9(15) Multiply each side of the equation by 15.
d = —-135
Check —1% = -9 Write the original squation.
—135 2 9 Replace dwith —135.
15
-9=-9v ~385 + 15 = -9

Solve each equation. Check your solution.

1.%=6 2.2d =12 3. Th = —21
— == -i = e ____.')C = —

4. —8x = 40 5. L= -6 6. %= 1

7. 17¢c = 68 8. _Ln =12 9, 20f = —145

10. 125 = 52 11. 13 = —182 12. 117 = —39%k

© Glencce/McGraw-Hill 11 Mathematics: Applications and Concepts, Course 3




NAME DATE PERIOD

Study Guide and Intervention
Solving Equations with Rational Numbers

The Addition, Subtraction, Multiplication, and Division Properties of Equality can be used to solve
equations with rational numbers.

. Solve x — 2.73 = 1.31. Check your solution.

x—2.73 = 131 Write the equation.
x—273+273= 131+2.73 Add 2.73 to each side.
x = 4,04 Simplify.
Checlk x—2.73 = 131 Write the original equation.
4.04-273 % 131 Replace x with 4.04.
131= 131/ Simplify.

Solve %—y = % Check your solution.

%y = % Write the equation.
54\ 5.2 i ide by 2
4(33!) 73 Multiply each side by T
y = % Simplify.
4 2 . - .
Check —5—y ] Write the otiginal equation.
4/5) 4, 2 ith 2
5(6) + 3 Replace y with 5
2 _ 2 N
3~ 3 v Simplify.

Solve each equation, Check your solution.

1. ¢+ 1.32=348 2. b—4.22="T7.08 3. —8.07T=r—448
4 _ 17 L SV 2,03
Lh+5=g 5. -S=x -y 6. —Z+f=1
7. 3.2c = 9.6 8. —5.04 = 1.26d 9. Ju =6
_2._3 W 3._498
10. 3 4?5 11. 55 4.2 12, 141" 38
© Glencoe/McGraw-Hill 97 Mathematies: Applications and Concepls, Gourse 3
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Study Guide and Intervention
Solving Proportions

A proportion is an equation that states that two ratios are equivalent. To determine whether a pair of
ratios forms a proportion, use cross products. You can also use cross products fo solve proportions.

} Determine whether the pair of ratios %% and % forms a proportion.

Find the cross products.

@P‘@ — 24-12 =288

- 20- 18 = 360

Since the cross products are not equal, the ratios de not form a proportion.

Solve 30 = 70"

i2 _ &

Write the equation.

30 70
12:-70=30 "% Find the cross producis.
840 = 30k Multipty.
840 _ 30% - .
=0 - 30 Divide each side by 30.
28 =% Simplify. The solution is 28.

Determine whether each pair of ratios forms a proportion.

17 12 6 12 8 10
L3005 2918 S TIRT:
713 748 8 12
4 153 5 9 %3 6. 90 28
4 12 20 30 18 3
Ty 8. 35 45 9 941
Solve each proportion.
n X 15 3_12 6 _ 10
10. 5 =52 11, 5= 12,5 ="
16 _ 2 5.8 14 10
18- 94 =15 4. 5=13 15, 5 =11
w_ 28 5__T. X T
18. & =7 17. y  16.8 18. 75 = 36

® Glencos/McGraw-Hill 200 Mathematics: Applications and Concepts, Course 3
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Study Guide and Intervention
Fractions, Decimals, and Percents

» To write a percent as a decimal, divide by 100 and remove the percent symbol,
« To write a decimal as a percent, multiply by 100 and add the percent symbol.

» To express a fraction as a percent, you ¢an use a proportion. Alternatively, you can write the fraction
as a decimal, and then express the decimal as a percent.

b Write 56% as a decimal.

56% = é\ﬁj % Divide by 100 and remove the percent symbal.
= 0.56

'. Write 0.17 as a percent.

0.17 = 0,\_1)5 Muitiply by 100 and add the parcent symbol.
=17%

Write % as a percent.

Method 1 Use a proportion. Method 2 Write as a decimal,

7. % . - T _ . .
50 100 Write the propottion. 20 0,3\5) Converi to a decimal by dividing.
7-100 = 20 : x Find cross producis. = 35%  Multiply by 100 and add the
700 = 20x Multiply. percent symbol.
700 _ 20x "y .
50 90 Divide each side by 20.
35=x Simplify.

So, % can be written as 35%.

Write each percent as a decimal.

1. 10% 2. 36% 3. 82% 4. 49.1%

Write each decimal as a percent.

5. 0.14 6. 0.69 7. 0.932 8. 1.07

Write each fraction as a percent.

3 7 9 1
9. T 10. 10 11. — 12, —

© Glencoe/McGraw-Hill 250 Mathematics: Applications and Concepts, Course 3
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Study Guide and Intervention
Area of Parallelograms, Triangles, and Trapezoids

The araa A of a parallelogram is the product of any base b and its height h, or A = bh.

The area A of a triangle is half the product of any base b and its height horA= %bh.

The area A of a trapezoid is half the product of the height h and the sum of the bases, b; and b,, or
A= Yhib, +by).

I Find the area of each figure.

The base is 8 yards. The height is 6 yards.

A = hh Area of a parallelogram

A=8-60r48 Replace bwith 8 and h wiih 6. Multiply.

The area is 48 square yards. 8yd
The base is 10 fect. The height is 4 feet.

A= %bh Araa of a triangle

A= % - 10 -4 or 20 Replace b with 10 and h with 4. Multiply.

The area is 20 square feet.

The height is 5 inches. The lengths of the bases
are 9 inches and 7 inches.

A= %h(bl + by) Area of a trapezoid
= —;T «5-{(9 4+ T or 40 Replace h with 5, b, with 8,
and b, with 7. Simplify. 71n,

The area is 40 square inches.

Find the area of each figure.
1. g m 2-

6yd

4. parallelogram: base, 11 em; height, 12 em
5. triangle: base, 8 mi; height, 13 mi

6. trapezoid: height, 7 km; bases, 8 km and 12 km

© Glencoe/MeGraw-Hill 377 Mathematics: Applications and Concepls, Course 3
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NAME DATE PERIOD __

Study Guide and Intervention
Circumference and Area of Circles

The circumierence C of a circla is equal fo its diameter d times = or 2 times the
radius rtimes @, or C = wdor C = 27r.

The area A of a circle is equal to i times the square of the radius r,
or A = wre,

Find the cirecumference of each circle.

C=md Clreumference of a circle
C==xn-4 Replace d with 4.
C=12.6 Use a calculator.

The circumference is about 12.6 inches.

C = 2nr Circumference of a Gircle
C=2-m-5b.4d Replace rwith 5.4.
C=339 Use a calculator.

The circamference is about 53.9 meters,
Find the area of the circle.
A = gr? Area of a circle

A = m(1.5)2 Replace rwith half of 3 or 1.5.
A=T1 Use a calculator.

The area is about 7.1 square feet.

Find the civcumference and area of each circle. Round to the nearest tenth.

3.

4. The diameter is 9.3 meters,
5. The radiug is 6.9 millimeter.

6. The diameter is 156.7 inches.

® Glencoe/McGraw-Hill 382 Mathematics: Applications and Concepts, Course 3
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The Coordinate Plane

Study Guide and Intervention

PERIOD

number line is the y-axis. Their intersection is the origin.

second number is the y-coordinate,

The coocrdinate plane is separated into four sections called quadrants.

The coerdinate plane is used fo locate points. The horizontal number line is the x-axis. The vertical

Paints are located using ordered pairs. The first number in an ordered pair is the x-coordinate; the

which P lies.

¢ Start at the origin.
¢ Move 4 units left along the x-axis.
* Move 3 units up on the y-axis.
The ordered pair for point P is (—4, 3).
P is in the upper left quadrant or quadrant II.

Graph and label the point M(0, —4).

o Start at the origin.

¢ Move 0 units along the x-axis.

¢ Move 4 units down on the y-axis.
e Draw a dot and label it M(0, —4).

Name the ordered pair for point P. Then identify the quadrant in

— D O

32

O3 PO
T

Name the ordered pair for each point graphed at
the right. Then identify the quadrant in which
each point lies.

1.P 2. Q

3. R 4. 8

Graph and label each point on the coordinate plane.

5. A(-1,1) 6. B(0, -3)
7. C(3,2) 8. D(-3, -1

9. EQ1,-2) 10. F(1, 3)

Lm0 o
i

O] oo

:J:E:JI\J

@ Glencos/McGraw-Mill 139 Mathematics: Applications and Concepts, Course 2




Plotting a Hidden Message

Date:

[Igéf’ Connect each series of points to reveal a hidden message.

13
12+
1
10
-9

T
[=~]

T
— N 2 = m Oa

4 1 A v
b o a4 &b &M B o ra

s
[ o)

—
—

-12

13

e

(-12.4)(-12,0) (6,-5)(4,-5)(4,-1D(6,-1) (-3,00(-5,00(-5,4(-3,4) (-6,5)(-8,5)(-8,93(-6,9
(10,2)¢12,2) (3,-8)¢5,-8) (4,-33(5,-3) (0,-6)(2,-6) (-2,4(0,4 (4,00(4,4) (-2,00(0,0)
(-6,-10) (-6,~6) (~5,-9) (-4,-6) (-4,-10) (-6,-1) (-8,-2)(-8,-4)(~6,-5)(-6,-3)(-7,-3) (7,7)(8,7)
(=5,-5)(~5,-1)(-3,-1)(-3,-3) (-5,-3) (-11,9)(-11,5)(-10,73(-9,5)(-9,9) (9,5)(7,5)(7,9(2,9
(1,5)€1L,9E,NE,5NED G,H0NADE,0E6,20E,2) (4,5)(4,9)(5,6)(6,9)(6,5
(-8,73(-7,7) (~5,9(-5,5(-3,5 (1,-6)(1,-10) (-3,-8)(-1,-8 (-4,-3)(-3,-5) (-2,-3(0,-D
(-13,4)(-11,4) (1,-5)(1,-D(2,-D3,-3)(2,-5){1,-5) (-3,-10)(-3,-8)(~2,-6)(-1,-8) (-1,-10)
(5.-10)(5,-6) (12,0)(12,4) (10,0)(10,4) (-1,00¢-1,4) (3,-100(3,-6) (-5,2)(-4,2)
(-2,-5)(-2,-3) (-1,-1) (0,-3)(0,-5) (0,5)(-2,5)(-2,9(0,%) (-10,0)(-10,4)(-8,4)(-8,03 (-10,0)
(8,4)(8,0) (4,2)(6,2) (7,49, (6,0006,4

Copyright ©2014 WorksheetWorks.com
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Summer Review Packet Answers:

Rounding Decitnals:
1) 42 2) 120 3) 20 4) 3 5) 80 6) 8 7) 29

8) 110 9) 33.3 10) 19 11) 1000 12) 1031  13) 160
14) 2811  15) 87 16) 278  17) 6971 18) 557  19) 60991

20) 247950 21) 554 22) 6720 23) 1403  24) 694

Multiplying & Dividing by 10, 100, efc.

1) 481 2) 3768  3) 460 4) 0000712 5) 54 6) 275
7)439,500 8) 0.000075 9) 2274 10) 900  11) 0618
12) 0.039006 13) 1,600 14) 00028889  15) 368,900

16) 0.00091 17) 3,360 18) 001672

1-2 Powers and Exponents
1Y 777 2) 2222242424242 3) 9.9 4) 15+15-15+15

4

5) 243 6) 343 7) 409  8) 125 9) 2 10) 7 °

11)10°  12)12°  13)12° 14 5° 15) 6 ° 16) 1 °

1-3 Order of Operations
1) 24 2) 0 3) 17 4) 3 5) 10 6) 3,000

7) 18 8) 5 9) 9 10) 24 11) 17 12) 350

1-4 Adding Integers

1) 25 2) -20 3) -8 4) -38 5) -10 6) 1 7) 26
8) -100 9) -38 10) 9 11) 1 12) -33 13) =12 14) 26
15) 8 16) -2 17) -1 18) 1 19) 1 20) 7

1-5_Subtracting Integers




1-5 Subtracting Integers

1) -7 2) 7 3) -18 4) -3 5) 5
8) -37 9) -9 10) 12 11) 71 12) -10
15) -12 16) 8 17) -1 18) 15

1-6 Multiplying and Dividing Infegers

1) -64 2) 21 3) -36 4) 96 5 -11
8) 9 9) 16 10) -5 11) 90 12) 11
15) 29 16) 1

2-3 Multiplying Rational Numbers
‘ 3 7 3
1) 2) 7 3)- 8 4) 3 5) - 18

7)

ke wibto

8 -5 99 10) 44 11 =34]

2-4 Dividing Rational Numbers

5 5
1) = 2) -2 310 4y -6 5) =%
) 3 ) — 3 ) ) ) 13
5 4 s - 11
N -5 8) 7g 9) 2 10) 15 1) = 13
_ 6 — 3 1
13) — 5 14) -2 15) = 35 16) 2 5
2-6 Adding and Subtracting Unlike Fractions
7 5
1) 15 2) § 3) % 4) -1% 5) 1 &

-1 932 925 10 =35 1) -1

1-8 Solving Additicn and Subtraction Equations
1) s=16 2) d=19 3) h=9 4) x=-13 B)b=-24
7)c=24 8) v=61 9)y=-22 10) z=51 11) +=-42

13) b=-17 14) x=-26 15) n=-9

6) 7 7) -7

13) -15  14) 23

6) -5 7) 12

13) -17  14) 3

6) 25

12yt

6) f=16

12) k=16




1-9 Solvin
1} r=30

Tyc=-4

ultiplication and

2) d= 6

ivision

3) h=-3

8) h=-132 9) t=-5

uations
4) x=-b

10) z= 25

2-7 Sclving Equations with Rational Numbers

1) t= 216

7Yc=3

2) b=113

8) d= -4

4-4 Solving Proportions

1} no
7) no

13) z= 10

5-2 Fractions, Decimals, and Percents

1) 0.10

7) 93.2%

2) yes
8) no

14) s=75

2) 0.36

8) 107%

3) r=-359

9) x=10

3) yes
9) yes

15) =154

3) 0.82

9) 75%

4) h= 4

10) 1= -5

4) no
10) x= 3

16y w=24

4) 0491

10) 70%

5) f = -48

11) +=-14

5) x= - %

11) w=105

B) yes
11) c=16

17y y=12

5) 14%

11) 56.25%

7-1 Area of Parallelograms, Triangles, and Trapezoids

1) 72 sq. meters

4) 132 sq. centimeters

7-2 Circumference and Area of Circles

1) C=63cm; A=313g.cm

2) 12 sq.yards

5) 52 sq. cenfimeters

3) C=264m A=5545q.m

5) C= 433 mm; A= 1496 sg. mm

6) x=70

12) k=-3

6) no
12) r=15

18) x = 3.5

6) 59%

12) 25%

3) 25sq. feet

6) 70 sq. kilometers

2) C=346yd A=950sq.yd

4) C=292m A=679sqm

6) C=493in; A=1936sq.in




3-3 The Coordinate Plane

1) (2,-3). 1V 2) (-3,-2), III 3) (1,3 4) (-2,2): IT

5 - 10: See graph below

3 Lo

a4 ow i po
.

A bl
i

’“”“”‘ﬁ
B

Plotting ¢ Hidden Message

N U S S "R N S

RO

P
;éawﬂziﬂlkéﬁﬁz

b

— e

—_
L= e

i, x




Name \ Date

Rounding Decimails

Rounding Decimals

Round 8.135 {o the nearest fenth.
8.135—8.1

i
less than 5

}_ ; Round 32.56713 to the nearest hundredih.
32.56713 — 32.57

sty
greater than 5

‘Round to the nearest whole number.
1. 41,803 = 2. 119.63= 3, 2005= 4, 3.45=

5 798631 = 6. 8437 = 7. 2037 = 8. 109.96 =

Round to the nearest fenth.
Q. 33335 = 10, 1.861 = 11, 9996 = 12. 103.103 =

13, 16031 = 14. 281.05= 15. 8.741 = 16, 27.773 =

Round fo the nearest hundredih. |
17. 69.713 = 18. 5569 = 19. 609.906 = 20. 247.898 =

21. 5535 = 20 671951 = 23, 140305= 24, 6.9372=

Published by Instructional Falr. Copyright protectad, Page 21 0-7424.1787-5 Pre-Aigebra |,




Name -Date

Mulhp!ymg Gnd Duwdlng by m 100, etc.

| When mUleplvlng by a power of 10, move the decimail o the r!gh’r 1
34.61x 10 — move 1 place — 346.1 !
6.77 x 100 —» move 2 places — 677

When dividing by a power of 10, move the decimal to the left:
7.39 + 100 — move 2 place — 0.0739
105.61 = 1000 — move 3 places — 0.10561

1. 11.-5;_)(- 100 = _ 10. 90,000 + 100 =

2. 37.68+10= 11. 0.000618 x 1,000 =
3. 0.46x1,000= 12, 39.006 + 1,000 =
4, 7.12+10,000 = 13. 16%x100 =

5 b4x10= ‘ - 14, 28.889+ 10,000 =
6. 27,500+ 1,000 = 15. 36.89x 10,000 =

7. A.395x 100,000 = | 16. 0.091 + 100 =

8. 0.0075+100= 17, 0.0336 x 100,000 =
Q. 2274x10= | 18. 1,672 + 100,000 =

srtehad by insrustional Folt Coppight proiscled. Page 22 (17424-1767-6 Pre-Algebrc




NAME DATE PERIOD

Study Guide and Intervention
Powers and Exponents

Exponent

3%= 3-3:3:3=81
Ny et

Base common factors

The exponent tells you how many times to use the base as a factor.

Write 62 as a product of the same factor.

The base is 6. The exponent 3 means that 6 is nsed as a factor 3 times.
62=6-6-6

Evaluate 5%

Write 4 - 4 - 4 + 4 - 4 in exponential form.

The base is 4. It is used as a factor 5 times, so the exponent is 5.
4-4-4-4-4=4°

Write each power as a product of the same factor.

1.7 2. 27 3. 9% 4. 154

- Evaluate each expression.
5. 3° 6. 73 7. 81 8, 53

Write each product in exponential form.

9.2-2-2-2 10.7-7-7-7-7-17
11.10-10- 10 12.9:9-9-9-0

13. 12 - 12 - 12 14, 5:-5-5-5
15.6:6-6-6-6 16.1-1-1-1-1-1-1-1

© Glencoe/MceGraw-Hill 6 Mathematics: Applications and Concepts, Course 2




NAME DATE PERIOD

Study Guide and Intervention
Order of Operations

Use the order of operations to evaluate numerical expressions.
1. Do all operations within grouping symbois first,

. Evaluate all powers before other operations.

2
3. Multiply and divide in order from left to right.
4. Add and subtract in order from left to right.

Evalaate (10 — 2) — 4 - 2.

10— —-4-2=8~- 4.2 Subtract first since 10 — 2 is in parentheses.
=8-—38 Multiply 4 and 2.
=0 Subtract 8 from 8,

Evaluate 8 + (1 +5)% ~ 4.

8+ (1L +h2+-4=8+ 62 + 4 First, add 1 and 5 inside the parentheses.

=8+36+4 Find the value of 62,
=8+9 Divide 36 by 4.
=17 Add 8 and 9.

Evaluate each expression.

L+T) X3 9,28 ~4-17 35443

4. (40 +5)— T+ 2 5. 35 + 7(2) 6. 3 % 103

7.45+5 436 +4 8.42+6X2-9 9.2%x8—3%+2

10. 5 X 22 +32+8 11.3)(6—(9—8)3 12. 3.5 X 102

© Glencoe/McGraw-Hill 11 Mathematics: Applications and Concepts, Course 2
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NAME DATE PERIOD

Study Guide and Intervention
Adding Integers

To add integers with the same sign, add their absolute values. Give the result the same sign as the
integers.

- Find -8 + (—4).

—3 4+ (—4y= -1 Add |31 + |1—41. Both numbers are negative, so the sum is negative.

To add integers with different signs, subtract their absolute values. Give the resuli the same sign as the
integer with the greater absolute value.

- Find —16 + 12.

-16+ 12 = —4 Subtract 1121 from 1184, The sum is negative because [—161 > f2l.

Add.
1. 9+ 16 2, —10 + (-10) 3. 18 + (—26)
4, —23 + (—1b) 5. —45 + 35 6. 39 + (—38)
7. =55 + 81 8. —61 + (—39) 9. —74 + 36
10. 5+ (—4)+ 8 11. -3 + 10 + (-6) 12, —18 + (—8) + (-12)
18. 3 + (‘—10) +(-16) + 11 14. —17 + 31 + (-14) + 26
Evalﬁate each expression if x =4 and y = —3.
15. 11 +y 16. x + (—6) . 17.y +2
18. |x +y| 19. |x| + 20. x + |¥|

© GlencoeMcGraw-Hill 16 Mathematics: Applications and Concepis, Course 3




NAME DATE PERIOD

Study Guide and intervention
Subtracting Integers

To subtract an integer, add iis opposite or additive inverse.

) Find 8 — 15.

8§ - 15 =8+ (—15)  To subiract 15, add —15.
= -7 Add,

n
b
bt

c
Bl
')
T,
o )

B Find 13 — (—22).

13 — (—22) = 13 + 22 To subtract —22, add 22.
= 35 Add.

Subtract.
1. -3—4 2.5~ (=2) 3. -10—-8
4. —15 — (-12) 5. —23 — (—28) 6.16—-9
7.9-16 8. —21—16 9, 28 — 37
10. —34 — (—486) 11. 65 — (—6)- 12, 19 — |29]
Evaluate each expressionifa = —7,b = —3,and ¢ = 5.
18. a2 -8 14. 20 - b 15. a — ¢
16. ¢ — b 17.b—a—¢ 18.¢c—b—a
@ GlencosMcGraw-Hil 21 Maihematics: Applications and Concepts, Course 3




NAME DATE PERIOD

. Study Guide and Intervention
Multiplying and Dividing Integers

Use the following rules to determine whether the product or quotient of two integers is positive or
negative.

* The product of two integers with different signs is negative.

e The product of two integers with the same sign is positive.

« The quotient of two integers with different signs is negative.

» The quotiant of two integers with the same sign is positive.

- Find 7(—4).

7(—4) = —28  The factors have different signs. The product is nagative.

" Find —5(—6).

The factors have the same sign. The product is positive.

) Find 15 + (-3).

Multiply or divide.
1. 8(—8) 2, —3(—17) 3. —94) 4, 12(8)
5.33+(—3) 6. —25 +5 7. 48 + 4 8, —63 + (-7
— 432 =75 - _ 143
9, (—4) 10. 15 11, —6(3)—5) 12, —13
Evaluate each expression if ¢ = —1, b=4,andec=—-T7.
18. 3c + b 14. a(b +©) 15. 2 — 5b 16. 2=5

@ GlencoeMcGraw-Hill 26 Mathematics: Applications and Concepts, Couise 3




NAME DATE PERIOD

Study Guide and Intervention
Multiplying Rational Numbers

To multiply fractions, multiply the numerators and muliiply the denominators.

) Find % 4 Write in simplest form.

11
% . —1% Divide 8 and 4 by their GCF, 4.
2
= 23 _' 111 Multiply the numerators and denominators.
3

=53 Simpiity.

To multiply mixed numbers, first rewrite them as improper fractions.
; . 3%. Write in simplest form.
1 7 .3 18

25="3% 8

Divide 18 and 3 by their GCF, 3.
Multiply the numerators and denominators.

Simplify.

Write the result as a mixed number.

Multiply. Write in simplest form.

o33 3 (4 e
7. 92 % 8. -3%- 11 9. 33 2>
© Glencoe/McGraw-Hill 77 Mathematics: Applications and Concepts, Course 3




NAME DATE PERIOD

Study Guide and Intervention
Dividing Rational Numbers

Two numbers whose product is 1 are multiplicative inverses, or reciprocals, of each other.

. Write the multiplicative inverse of —2%.

Write —2% as an improper fraction,

Since —ll—(—il—) = 1, the multiplicative inverse of *-2% is ——f‘I.

To divide by a fraction or mixed numbat, multiply by its multiplicative inverse.

Find % + ,—“‘7"- Write in simplest form.

% = 7 = % . % Multiply by the multiplicative inverse of %, which is %.
1
= -;i g Divide 6 and 3 by their GCF, 3.
5§
_ 1 .
=~ 16 Simplify.
Write the multiplicative inverse of each number.
3 _8 1 _1
1. 5 2. 5 3. 10 4. 6
3 —12 _g52 1
5. Q.g 6. 13 7. 55 8. 74
Divide. Write in simplest form.
1.1 2.4
9. 37 % 10. ETw
5.3 1. 91
11. ) 12.15.24
1. ({_g2 4.
13.37.( 33) 14, %+ 2
6 —_— P— - l.
15. 11.( 4) 16.5.23

©® Glencoe/McGraw-Hill 82 Mathematics: Applications and Concepls, Course 3




NAME

DATE

Study Guide and Intervention
Adding and Subtracting Unlike Fractions

PERIOD

neccessary.

Fractions that have different denominators are called unlike fractions. To add or subtract unlike
fractions, first rewrite the fractions with a common denominator. Then add or subtract and simplify, if

15
_ 19

4
—Eorlﬁ—

Find—‘;l + % Write in simplest form.

The LCDis 5 3or15.

Rename each fraction using the LCD,

Add the numerators. The denominators are the same.

Simplify.

Write the mixed numbers as improper fractions.

Find —3% - 13, Write in simplest form.

The LCDis 2 * 3or 6.

Rename % using the LCD.

Subtract the numetators.

_7_ 11
2 6
- _7.3_11
2 3 6
__21_ 1
6 6
_-21-11
6
= %2—01" “136 or 5% Simplify.

Add or subtract. Write in simplest form.

L2438

10, —1-— 2=

© Glencoe/McGraw-Hill
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2.3+9
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3_ 41
9.3—1 13
3_g92
12.3g 23
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NAME DATE PERIOD

Study Guide and Intervention
Solving Addition and Subtraction Equations

You can use the following properties to solve addition and subtraction equations.

« Addition Property of Equalily - If you add the same number to each side of an equation, the fwo
sides remain egual.

« Subtraction Properly of Equality - If you subiract the same number from each side of an equation,
the two sides remain equal.

- Solve w + 19 = 45. Check your solution.

w+ 19 =45 Write the equation.
w+ 19 —~ 19 = 45 — 19  Subiract 19 from each side.
w = 26 19 — 19 = 0 and 45 — 19 = 26. wis by itself.
Check w+ 18 =45 Write the ariginal equation.
26 + 19 £ 45 Replace wwith 28. Is this sentence true?

45 =45/ 26 + 19 = 45

- Solve b — 25 = =76, Check your solution.

h—26=-76 Write the equation.
h — 95 + 25 = —~T76 + 25 Add 25 to each side.
h=-51 —35 + 25 = 0 and —76 + 25 = —51. his by itself.
Check h—26=-76 Write the original equation.
—51-25% 76 Replace hwith —51. Is this sentence true?
~76 = —-76V —51 — 25 = —51 + (—25) or ~76

Solve each equation. Check your solution.

l.s—4=12 . 2.d+2=21 3. h+6=15
4. x+5=-8 5.5 — 10 = —34 6. f—22= -6
7.17 + ¢ = 41 8.v—236=25 9.y — 29 = ~51
10. 19 =z — 32 11. 13 + 2 = —29 12. 55 = 39 + k
13. 62 + b =45 14. x — 39 = —65 15. —56 = —47 + n

© Glencoe/McGraw-Hill 36 Mathomalics: Applications and Concepts, Coutse 3




NAME DATE PERICD

Study Guide and Intervention
Solving Multiplication and Division Equations

Yout can use the following proparties to solve multiplication and division equations.

» Muftiplication Property of Equality - If you muiltiply each side of an equation by the same number, the

fwo sides remain equal
« Division Property of Equality - If you divide each side of an equation by the same nonzero number,

the two sides remain equal.

Solve 19w = 104. Check your solution.

19w = 114 Write the equation.
19w _ 114 ., . .
19 - 19 Divide each side of the equation by 19.
1w =6 19+ 19 =1and 114 +~ 19 = 6.
w=~6 Identity Property; 1w = w
Check 19w =114 Write the original equation.
19(6) £ 114 Replace w with 6.

114 =114 v/ This sentence is trus.

Solve 4 _ _9. Check your solution.

15
a4 _
5=
%(15) = —9(15) Multiply each side of the equation by 15.
d = —-135
Check —1% = -9 Write the original squation.
—135 2 9 Replace dwith —135.
15
-9=-9v ~385 + 15 = -9

Solve each equation. Check your solution.

1.%=6 2.2d =12 3. Th = —21
— == -i = e ____.')C = —

4. —8x = 40 5. L= -6 6. %= 1

7. 17¢c = 68 8. _Ln =12 9, 20f = —145

10. 125 = 52 11. 13 = —182 12. 117 = —39%k

© Glencce/McGraw-Hill 11 Mathematics: Applications and Concepts, Course 3




NAME DATE PERIOD

Study Guide and Intervention
Solving Equations with Rational Numbers

The Addition, Subtraction, Multiplication, and Division Properties of Equality can be used to solve
equations with rational numbers.

. Solve x — 2.73 = 1.31. Check your solution.

x—2.73 = 131 Write the equation.
x—273+273= 131+2.73 Add 2.73 to each side.
x = 4,04 Simplify.
Checlk x—2.73 = 131 Write the original equation.
4.04-273 % 131 Replace x with 4.04.
131= 131/ Simplify.

Solve %—y = % Check your solution.

%y = % Write the equation.
54\ 5.2 i ide by 2
4(33!) 73 Multiply each side by T
y = % Simplify.
4 2 . - .
Check —5—y ] Write the otiginal equation.
4/5) 4, 2 ith 2
5(6) + 3 Replace y with 5
2 _ 2 N
3~ 3 v Simplify.

Solve each equation, Check your solution.

1. ¢+ 1.32=348 2. b—4.22="T7.08 3. —8.07T=r—448
4 _ 17 L SV 2,03
Lh+5=g 5. -S=x -y 6. —Z+f=1
7. 3.2c = 9.6 8. —5.04 = 1.26d 9. Ju =6
_2._3 W 3._498
10. 3 4?5 11. 55 4.2 12, 141" 38
© Glencoe/McGraw-Hill 97 Mathematies: Applications and Concepls, Gourse 3
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Study Guide and Intervention
Solving Proportions

A proportion is an equation that states that two ratios are equivalent. To determine whether a pair of
ratios forms a proportion, use cross products. You can also use cross products fo solve proportions.

} Determine whether the pair of ratios %% and % forms a proportion.

Find the cross products.

@P‘@ — 24-12 =288

- 20- 18 = 360

Since the cross products are not equal, the ratios de not form a proportion.

Solve 30 = 70"

i2 _ &

Write the equation.

30 70
12:-70=30 "% Find the cross producis.
840 = 30k Multipty.
840 _ 30% - .
=0 - 30 Divide each side by 30.
28 =% Simplify. The solution is 28.

Determine whether each pair of ratios forms a proportion.

17 12 6 12 8 10
L3005 2918 S TIRT:
713 748 8 12
4 153 5 9 %3 6. 90 28
4 12 20 30 18 3
Ty 8. 35 45 9 941
Solve each proportion.
n X 15 3_12 6 _ 10
10. 5 =52 11, 5= 12,5 ="
16 _ 2 5.8 14 10
18- 94 =15 4. 5=13 15, 5 =11
w_ 28 5__T. X T
18. & =7 17. y  16.8 18. 75 = 36

® Glencos/McGraw-Hill 200 Mathematics: Applications and Concepts, Course 3
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Study Guide and Intervention
Fractions, Decimals, and Percents

» To write a percent as a decimal, divide by 100 and remove the percent symbol,
« To write a decimal as a percent, multiply by 100 and add the percent symbol.

» To express a fraction as a percent, you ¢an use a proportion. Alternatively, you can write the fraction
as a decimal, and then express the decimal as a percent.

b Write 56% as a decimal.

56% = é\ﬁj % Divide by 100 and remove the percent symbal.
= 0.56

'. Write 0.17 as a percent.

0.17 = 0,\_1)5 Muitiply by 100 and add the parcent symbol.
=17%

Write % as a percent.

Method 1 Use a proportion. Method 2 Write as a decimal,

7. % . - T _ . .
50 100 Write the propottion. 20 0,3\5) Converi to a decimal by dividing.
7-100 = 20 : x Find cross producis. = 35%  Multiply by 100 and add the
700 = 20x Multiply. percent symbol.
700 _ 20x "y .
50 90 Divide each side by 20.
35=x Simplify.

So, % can be written as 35%.

Write each percent as a decimal.

1. 10% 2. 36% 3. 82% 4. 49.1%

Write each decimal as a percent.

5. 0.14 6. 0.69 7. 0.932 8. 1.07

Write each fraction as a percent.

3 7 9 1
9. T 10. 10 11. — 12, —

© Glencoe/McGraw-Hill 250 Mathematics: Applications and Concepts, Course 3
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Study Guide and Intervention
Area of Parallelograms, Triangles, and Trapezoids

The araa A of a parallelogram is the product of any base b and its height h, or A = bh.

The area A of a triangle is half the product of any base b and its height horA= %bh.

The area A of a trapezoid is half the product of the height h and the sum of the bases, b; and b,, or
A= Yhib, +by).

I Find the area of each figure.

The base is 8 yards. The height is 6 yards.

A = hh Area of a parallelogram

A=8-60r48 Replace bwith 8 and h wiih 6. Multiply.

The area is 48 square yards. 8yd
The base is 10 fect. The height is 4 feet.

A= %bh Araa of a triangle

A= % - 10 -4 or 20 Replace b with 10 and h with 4. Multiply.

The area is 20 square feet.

The height is 5 inches. The lengths of the bases
are 9 inches and 7 inches.

A= %h(bl + by) Area of a trapezoid
= —;T «5-{(9 4+ T or 40 Replace h with 5, b, with 8,
and b, with 7. Simplify. 71n,

The area is 40 square inches.

Find the area of each figure.
1. g m 2-

6yd

4. parallelogram: base, 11 em; height, 12 em
5. triangle: base, 8 mi; height, 13 mi

6. trapezoid: height, 7 km; bases, 8 km and 12 km

© Glencoe/MeGraw-Hill 377 Mathematics: Applications and Concepls, Course 3
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Study Guide and Intervention
Circumference and Area of Circles

The circumierence C of a circla is equal fo its diameter d times = or 2 times the
radius rtimes @, or C = wdor C = 27r.

The area A of a circle is equal to i times the square of the radius r,
or A = wre,

Find the cirecumference of each circle.

C=md Clreumference of a circle
C==xn-4 Replace d with 4.
C=12.6 Use a calculator.

The circumference is about 12.6 inches.

C = 2nr Circumference of a Gircle
C=2-m-5b.4d Replace rwith 5.4.
C=339 Use a calculator.

The circamference is about 53.9 meters,
Find the area of the circle.
A = gr? Area of a circle

A = m(1.5)2 Replace rwith half of 3 or 1.5.
A=T1 Use a calculator.

The area is about 7.1 square feet.

Find the civcumference and area of each circle. Round to the nearest tenth.

3.

4. The diameter is 9.3 meters,
5. The radiug is 6.9 millimeter.

6. The diameter is 156.7 inches.

® Glencoe/McGraw-Hill 382 Mathematics: Applications and Concepts, Course 3
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The Coordinate Plane

Study Guide and Intervention

PERIOD

number line is the y-axis. Their intersection is the origin.

second number is the y-coordinate,

The coocrdinate plane is separated into four sections called quadrants.

The coerdinate plane is used fo locate points. The horizontal number line is the x-axis. The vertical

Paints are located using ordered pairs. The first number in an ordered pair is the x-coordinate; the

which P lies.

¢ Start at the origin.
¢ Move 4 units left along the x-axis.
* Move 3 units up on the y-axis.
The ordered pair for point P is (—4, 3).
P is in the upper left quadrant or quadrant II.

Graph and label the point M(0, —4).

o Start at the origin.

¢ Move 0 units along the x-axis.

¢ Move 4 units down on the y-axis.
e Draw a dot and label it M(0, —4).

Name the ordered pair for point P. Then identify the quadrant in

— D O

32

O3 PO
T

Name the ordered pair for each point graphed at
the right. Then identify the quadrant in which
each point lies.

1.P 2. Q

3. R 4. 8

Graph and label each point on the coordinate plane.

5. A(-1,1) 6. B(0, -3)
7. C(3,2) 8. D(-3, -1

9. EQ1,-2) 10. F(1, 3)

Lm0 o
i

O] oo

:J:E:JI\J
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